PK-RPB3KA18

s B
mEEST 24 = [l
XHES |24m (BT 1.8m) ool |
A& %A — —
B A KR 13 _ \§>23 —
BTRE |2/ CHTERE o — )
27
(m) \\ >
\
0O 1 2 3 4 5 6 7
PREIEERE(mM)
[ @Eﬁﬁ 24 [m/s]
FHES [2.4m @R 1.8m) | 40 T’
Y —_— \\
B |%AE §§\ —
BB KERE S _ \\520\\ \
HERE |27 CREER 10 — s s
(m) >1o
\s\/
0 =
0 1 2 3 4 5 6 7
PRENEERE (M)
E B
= [C]
| hmrgﬁ?ﬁ 24
XHES [2.4m (BT 1.8m) 20| |
B % |BAE
A [ | FRE 70 - \ s
RTEE | 20CRTEGRS =10 \
(m) \j
25 o5
. 27 \
0 1 2 3 4 5 6 7
PREIZERHE (M)
W RS 24 [m/s]
FHSE |2.4m (FBRI(F 1.8m) ool |
B % |BAE
B @ | FRE 70 - \15
FERE | 20CHTEERE LN
(m) \)
)0.5 10
\/)&%Q
OO 1 2 3 4 5 6 7

PREIZEEE(M)



